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N.B. .— () Attempt All questions.

(i1) All questions carry equal marks.
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1. Explain the merits and demerits of Partnership. 10
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Or
(fenam)
Explain the industrial location theory of Alfred Weber.
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2. State the problems of Sugar Industry in India. 10
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Or
(fenam)
Explain the Labour Welfare Policy in India.
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3. State the Industrial Policy of 1991. 10
1991 = SfelfTR &R0 T HA.
Or
(fenam)
State the advantages and disadvantages of Industrial Combination.
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4, Write short notes on (any fwo) : 10
() Public Enterprises
(z1)  Engineering Goods Industry
(@11) Industrial Sickness
(v) Small Scale Industry.
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